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B.A./B.Sc./B.Com. DEGREE EXAMINATION, NOVEMBER 2017.
(Common to all U.G. Courses)
I YEAR — I SEMESTER
Foundation Course 
ENGLISH — Paper I
Time : 3 hours
    Max. marks : 75
SECTION A — (10 × 2 = 20 marks)
    I . Answer any FIVE of the following in 30 words.      
1. a) How does the narration justify the flavor of the roasted pig?                                              
b) There is no flavor, I will content, to that of the crisp, tawny, well-watched, not over-roasted, crackling, as it is well called – the very teeth are invited to their share of the pleasure at this banquet in overcoming the coy, brittle resistance -.

2. ‘Knowledge of oneness is virtue; seeing diversity is sin’ Explain.
3. “I’m kill’d, Sire!” And his chief beside,
         Smiling the boy fell dead.
    Who says these lines and to whom fid the context?
4. Explain the term ‘Character” with reference to the context.

5. But when I start to tell them,

They think I’m telling lies.

    Why does Matilda think so?

6. The Rusty Shield Bearer,

neutral till then,

para-drops a winning flower – 

   Who is the “Rusty Shield Bearer”. Mention the Name of the Poem and the poet.

7. ‘All Things by a law divine”


What according to Shelley is the divine law?

II. Grammar
8.  Add a suitable tag.

a) He hasn’t got any cars,____________?

9. Fill in the blanks with the missing letters.

a) Ch_rac_er

b) Pro_la_at_on 

10. Fill in the blanks with suitable preposition.

The truth ______ length broke _______ his slow understanding.

11. Give Synonyms


a) Pacify
b) Rapid

12. Give Antonyms

a) Begin
b) Remember

SECTION B — (5 × 5 = 25 marks)
Answer any FIVE of the following choosing not less than TWO from each part.


PART A    (100 words)
13. What did Bo-bo learn from the fire accident?

14. Give an account of the incident in the French camp.

15. Why does Lomov think he should marry especially Natalya?

16. What is the turning point in the story ‘After Twenty Years’?

    PART B
17. Your family is planning for summer vacation to Kerala and you have been assigned the task of reserving train tickets.  Fill in the reservation form for your family. Railway reservation form to be attached.

18. Develop a story using the hints given below.

A king distressed – his people lazy – wants to teach them a lesson – put a big stone in the middle of the road – people pass and go round it – Merchants and officers did the same – a young soldier came riding did the same – all cursed the government – Then the king had it removed – under it was an iron box mark for the man who moves away the stone – inside a purse – full of money – people ashamed – moral.

19. Read the following passage and answer the questions given below:

What needs to be set right is our approach to work.  It is a common sight in our country of employees reporting for duty on time and at the same time doing little work.  If an assessment is made of time they spent in gossiping, drinking tea, eating “pan” and smoking cigarettes, it will be shocking to know that the time devoted to actual work is negligible.  The problem is the standard which the leadership in administration sets for the staff.  Forget the ministers because they mix politics and administration.  What do top bureaucrats do?  What do the below down officials do?  The administration set up remains weak mainly because the employees do not have the right example to follow and they are more concerned about being in the good books for the bosses than doing work.

1. The employees in our country _______

a) are quite punctual but not duty conscious

b) are not punctual, but somehow manage to complete their work

c) are somewhat lazy but good natured

d) are not very highly qualified

2. According to the writer, the administration in India ______

a) is by and large effective

b) is very strict and firm

c) is affected by red tap

d) is more or less ineffective

3. The word ‘assessment’ means ________.

a) enquiry 

b) report

c) evaluation

d) summary

4. The leadership in administration ____________.

a) sets a fine example to the employees

b) is of reasonably high standard

c) is composed of idealists

d) is of a very poor standard

5. The central idea of passage could be best expressed by the following

a) the employee outlook towards work is justified

b) The employee must change their outlook towards work

c) The employees would never change their work culture

d) the employer-employee relationship is far from healthy

              SECTION C — (3 × 10 = 30 marks)
Answer any THREE  of the following in about 250 words each.
20. How does Shiv Khera show the way to  success in the chapter “Formula to Success”?

21. Narrate the incident in Matilda’s life that led to her death.

22. What are the traits of the Phenomenal woman?

23. Narrate how Ned Travers became the landlord of Beehive.

24. Justify the title ‘The Mark of Vishnu’.

                        __________________________
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